

Review

$A: 2 \times 2$ matrix, real value.

$$\boxed{\frac{d}{dt} \vec{x}(t) = A \vec{x}(t)} \quad \leftarrow \text{differential eq.}$$

$$A = \begin{pmatrix} a & b \\ c & d \end{pmatrix}$$

$$\begin{aligned} \Phi_A(t) &= \det(\lambda I_2 - A) \\ &= \lambda^2 - (a+d)\lambda + \det(A) \end{aligned}$$

① $\Phi_A(\lambda) = 0$ has two distinct real roots α, β
 $\alpha, \beta \in \mathbb{R} \quad \alpha \neq \beta$.

$$A \vec{v}_1 = \alpha \vec{v}_1, \quad A \vec{v}_2 = \beta \vec{v}_2 \quad (\vec{v}_i \neq \vec{0})$$

exists.

$$P = (\vec{v}_1, \vec{v}_2) \text{ exists } (P: \mathbb{R}^2 \rightarrow \mathbb{R}^2 \text{ exists})$$

$$\leadsto AP = P \begin{pmatrix} \alpha & 0 \\ 0 & \beta \end{pmatrix} \quad \text{diagonalizable.}$$

$$\vec{z}(t) = P^{-1} \vec{x}(t)$$

$$\begin{aligned} \frac{d}{dt} \vec{z}(t) &= P^{-1} \frac{d}{dt} \vec{x}(t) = P^{-1} A P \cdot P^{-1} \vec{x}(t) \\ &= \begin{pmatrix} \alpha & 0 \\ 0 & \beta \end{pmatrix} \vec{z}(t) \quad \Leftrightarrow \begin{cases} z_1'(t) = \alpha z_1(t) \\ z_2'(t) = \beta z_2(t) \end{cases} \end{aligned}$$

$$\begin{cases} z_1(t) = z_1(0) e^{\alpha t} \\ z_2(t) = z_2(0) e^{\beta t} \end{cases}$$

$$\vec{z}(t) = \begin{pmatrix} e^{\alpha t} & 0 \\ 0 & e^{\beta t} \end{pmatrix} \begin{pmatrix} z_1(0) \\ z_2(0) \end{pmatrix}$$

$$P^{-1} \vec{x}(t) = \begin{pmatrix} e^{\alpha t} & 0 \\ 0 & e^{\beta t} \end{pmatrix} P^{-1} \vec{x}(0)$$

$$\leadsto \boxed{\vec{x}(t) = P \begin{pmatrix} e^{\alpha t} & 0 \\ 0 & e^{\beta t} \end{pmatrix} P^{-1} \cdot \vec{x}(0)}$$

D: $\Phi_A(\lambda) = 0$ の $\neq 0$ 判別式.
(discriminant)

② $D = 0$ $\Phi_A(\lambda) = 0$ の重複根を持つ.
" $(\lambda - \alpha)^2$.

$$AP = P \begin{pmatrix} \alpha & 0 \\ 1 & \alpha \end{pmatrix} \text{ となる } P \text{ が存在.}$$

$\rightarrow$ 上三角化可能.
「対角化可能」

③ $D < 0$

④ $\lambda^n + a_1 \lambda^{n-1} + \dots + a_{n-1} \lambda + a_n = 0$

$a_j \in \mathbb{R} \ (j=1, \dots, n)$

$\lambda = \alpha$ なる ④ の解 $\Rightarrow \lambda = a - ib \in \mathbb{C}$ なる ④ の解.
" $a+ib$ $\rightarrow \overline{a_j} = a_j$

$\overline{a+ib} = a-ib$. 複素共役.
complex conjugate

$\alpha, \beta \in \mathbb{C}$

$\overline{\alpha \cdot \beta} = \overline{\alpha} \cdot \overline{\beta}$

$\overline{\alpha \pm \beta} = \overline{\alpha} \pm \overline{\beta}$ etc.

$\exists \alpha \in \mathbb{R}$

$\alpha^n + a_1 \alpha^{n-1} + \dots + a_{n-1} \alpha + a_n = 0$

両辺の複素共役をとる

$\overline{\alpha^n + \dots + a_{n-1} \alpha + a_n} = \overline{0} = 0$

$(\overline{\alpha})^n + a_1 (\overline{\alpha})^{n-1} + \dots + a_{n-1} \overline{\alpha} + a_n = 0$

$\rightarrow \lambda = \overline{\alpha}$ なる ④ の解.

$$\lambda^2 + a_1 \lambda + a_2 = 0$$

$$D = a_1^2 - 4a_2 < 0$$

$$\lambda = \frac{-a_1 \pm \sqrt{a_1^2 - 4a_2}}{2}$$

$$= \frac{-a_1 \pm \sqrt{-D} \cdot i}{2}$$

$$\alpha = \frac{-a_1 + \sqrt{-D} i}{2} \quad \beta = \frac{-a_1 - \sqrt{-D} i}{2}$$

$$\bar{\alpha} = \beta \text{ 或 } \alpha = \bar{\beta}.$$

$$\Phi_A(\lambda) = (\lambda - \alpha)(\lambda - \beta)$$

$$\alpha = a + ib, \beta = a - ib \quad (a, b \in \mathbb{R})$$

且 $\alpha \neq \beta$.

例 12.11 $A = \begin{pmatrix} 1 & -1 \\ 2 & -1 \end{pmatrix}$

$$\begin{vmatrix} \lambda - 1 & 1 \\ -2 & \lambda + 1 \end{vmatrix} = (\lambda^2 - 1) - (-2) = \lambda^2 + 1.$$

$$\lambda = \pm i, A \text{ 有 } 2 \text{ 个互异的特征值.}$$

$$\lambda = i \text{ 有特征向量}$$

$$(i+1) \begin{pmatrix} i-1 & 1 \\ -2 & i+1 \end{pmatrix}$$

$$\Rightarrow \begin{pmatrix} i-1 & 1 \\ -2 & i+1 \end{pmatrix} \begin{pmatrix} x_1 \\ x_2 \end{pmatrix} = \vec{0} \quad \begin{matrix} (i+1) \begin{pmatrix} i-1 & 1 \\ -2 & i+1 \end{pmatrix} \\ \parallel \\ \begin{pmatrix} i-1 & 1 \\ -2 & i+1 \end{pmatrix} \end{matrix}$$

$$x_2 = -(i-1)x_1$$

$$\vec{v}_1 = \begin{pmatrix} 1 \\ -i+1 \end{pmatrix}$$

$$A\vec{v}_1 = i\vec{v}_1$$

$\lambda = -i$ の固有ベクトル

$$A \vec{v}_1 = i \vec{v}_1$$

$$\bar{A} = A$$

A : 実対称

$$A \vec{v}_2 = -i \vec{v}_2$$

$$\vec{v}_1 = \begin{pmatrix} 1 \\ 1-i \end{pmatrix}$$

$$\vec{v}_2 = \begin{pmatrix} 1 \\ 1+i \end{pmatrix}$$

$$A: m \times n \text{ 行列} \\ = (a_{ij})$$

$$\bar{A} = (\bar{a}_{ij})$$

$$\begin{cases} \vec{v}_1 = \vec{w}_1 + i \vec{w}_2 \\ \vec{v}_2 = \vec{w}_1 - i \vec{w}_2 \end{cases}$$

$$\vec{w}_1 = \begin{pmatrix} 1 \\ 1 \end{pmatrix}, \vec{w}_2 = \begin{pmatrix} 0 \\ -1 \end{pmatrix}$$

$$\begin{cases} \vec{w}_1 = \frac{1}{2} (\vec{v}_1 + \vec{v}_2) \\ \vec{w}_2 = \frac{1}{2i} (\vec{v}_1 - \vec{v}_2) \end{cases}$$

$$P = (\vec{w}_1, \vec{w}_2) \\ \text{基底}$$

$$\begin{aligned} A \vec{w}_1 &= \frac{1}{2} (A \vec{v}_1 + A \vec{v}_2) \\ &= \frac{1}{2} (i \vec{v}_1 - i \vec{v}_2) \\ &= -\frac{1}{2i} (\vec{v}_1 - \vec{v}_2) \\ &= -\vec{w}_2 \end{aligned}$$

$$\textcircled{1} A \vec{w}_1 = -\vec{w}_2$$

$$\textcircled{2} A \vec{w}_2 = \vec{w}_1$$

$$\begin{aligned} A \vec{w}_2 &= \frac{1}{2i} (A \vec{v}_1 - A \vec{v}_2) \\ &= \frac{1}{2i} (i \vec{v}_1 + i \vec{v}_2) \\ &= \frac{1}{2} (\vec{v}_1 + \vec{v}_2) = \vec{w}_1 \end{aligned}$$

$$\begin{aligned} AP &= A(\vec{w}_1, \vec{w}_2) \\ &= (A \vec{w}_1, A \vec{w}_2) \end{aligned}$$

$$A \vec{w}_1 = -\vec{w}_2, \quad A \vec{w}_2 = \vec{w}_1$$

$$AP = (A \vec{w}_1, A \vec{w}_2) = (-\vec{w}_2, \vec{w}_1)$$

$$= (\vec{w}_1, \vec{w}_2) \begin{pmatrix} 0 & 1 \\ -1 & 0 \end{pmatrix}$$

$$= P \begin{pmatrix} 0 & 1 \\ -1 & 0 \end{pmatrix}$$

$$P = \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix}$$

$$\det(P) \neq 0.$$

- 矩阵可逆.

$$P^{-1}AP = \begin{pmatrix} 0 & 1 \\ -1 & 0 \end{pmatrix}$$

$$\alpha = a + ib, \quad \beta = a - ib.$$

$b \neq 0$

正负

$$\vec{v}_1 = \vec{w}_1 + i\vec{w}_2, \quad \vec{v}_2 = \vec{w}_1 - i\vec{w}_2$$

$$P = (\vec{w}_1, \vec{w}_2)$$

$$AP = P \begin{pmatrix} a & b \\ -b & a \end{pmatrix} \leftarrow \text{实标准型}$$

$$\frac{d}{dt} \vec{x}(t) = A \vec{x}(t)$$

$$\vec{z}(t) = P^{-1} \vec{x}(t)$$

矩阵可逆

$$\vec{z}(t) = \begin{pmatrix} 0 & 1 \\ -1 & 0 \end{pmatrix} \vec{z}(t)$$

$$x(t) = \begin{pmatrix} \cos t & \sin t \\ -\sin t & \cos t \end{pmatrix}$$

$$(\cos t)' = -\sin t$$

$$(\sin t)' = \cos t$$

$$x'(t) = \begin{pmatrix} -\sin t & \cos t \\ -\cos t & -\sin t \end{pmatrix}$$

$$\begin{pmatrix} 0 & 1 \\ -1 & 0 \end{pmatrix} \begin{pmatrix} \cos t & \sin t \\ -\sin t & \cos t \end{pmatrix}$$

$$= \begin{pmatrix} \cos t & \sin t \\ -\sin t & \cos t \end{pmatrix} \begin{pmatrix} 0 & 1 \\ -1 & 0 \end{pmatrix}$$

$$x'(t) = \begin{pmatrix} 0 & 1 \\ -1 & 0 \end{pmatrix} x(t) = x(t)$$

$$\vec{z}(t) = \begin{pmatrix} 0 & 1 \\ -1 & 0 \end{pmatrix} \vec{z}(t) = X(t) \begin{pmatrix} 0 & 1 \\ -1 & 0 \end{pmatrix}$$

$$X(t) = \begin{pmatrix} \cos t & \sin t \\ -\sin t & \cos t \end{pmatrix} \quad X'(t) = \begin{pmatrix} 0 & 1 \\ -1 & 0 \end{pmatrix} X(t)$$

$$\left(X(-t) \vec{z}(t) \right)'$$

$$= \underbrace{X(-t) \begin{pmatrix} 0 & 1 \\ -1 & 0 \end{pmatrix} X(-1)}_{\text{}} \vec{z}(t) + X(-t) \begin{pmatrix} 0 & 1 \\ -1 & 0 \end{pmatrix} \vec{z}(t)$$

$$= X(-t) \left(\underbrace{-\begin{pmatrix} 0 & 1 \\ -1 & 0 \end{pmatrix} + \begin{pmatrix} 0 & 1 \\ -1 & 0 \end{pmatrix}}_{= I_2} \right) \vec{z}(t)$$

$$= \vec{0}$$

$$X(-t) \vec{z}(t) = X(0) \vec{z}(0)$$

$$= \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix} \vec{z}(0) = \vec{z}(0)$$

$$X(s) X(t) = X(s+t) \rightarrow X(-t) X(t) = X(0)$$

$$= I_2$$

$$X(t) = \begin{pmatrix} \cos t & \sin t \\ -\sin t & \cos t \end{pmatrix}$$

$$X(-t) = (X(t))^{-1}$$

$$(-t) \text{ is } \vec{z}_1$$

$$\vec{z}(t) = X(t) \vec{z}(0)$$

$$P^{-1} \vec{x}(t) = \vec{z}(t) = X(t) \vec{z}(0)$$

$$= X(t) P^{-1} \vec{x}(0)$$

$$\rightarrow \boxed{\vec{x}(t) = P X(t) P^{-1} \vec{x}(0)}$$

問題

$$X(t) = e^{at} \begin{pmatrix} \cos t & \sin t \\ -\sin t & \cos t \end{pmatrix}$$

(Note: The matrix elements are circled in pink in the original image, with arrows pointing to them from the circled 't' in the exponent.)

$$X'(t) = X(t) \boxed{}$$

$$= \boxed{} X(t)$$

12) ex.
2x2 matrix.